

BINARY OPERATIONS ASSOCIABLE WITH A GROUP OPERATION

VASILE POP¹

Manuscript received: 12.10.2011; Accepted paper: 30.10.2011;

Published online: 01.12.2011.

Abstract. *Conditions under which two binary operations on a set M are associative ($x \circ (y * z) = (x \circ y) * z$, $z, y, z \in M$) were given by J. Dhombres in the case when the operations are associative. We characterize the associability of two group operations by using the binary reduces (in Hosszú sense) of an n -group. We show that by the juxtaposition of two such operations, an operation of 3-group is obtained.*

Keywords: *Associable operations, n -groups, binary operations.*

AMS: *20M15.*

1. INTRODUCTION

Using functional equations J. Dhombres determines in [2] the binary operations which are associative, associable and commutable with a quasigroup or monoid operation.

We will approach this problem from another point of view and remark a natural relation of this problem with the two reduced n -groups (in Hosszú sense) of an n -group.

We recall some notations and results which are used in the paper.

1.1. (See [1]) If (G, φ) is a group, $\alpha : G \rightarrow G$ an automorphism, $a \in G$ a fixed element such that $\alpha^{n-1}(x) = a \circ x \circ a^{-1}$, $x \in G$ is an inner automorphism and $\alpha(a) = a$, then the n -ary operation $\varphi : G^n \rightarrow G$ defined by

$$\varphi(x_1, x_2, \dots, x_n) = x_1 \circ \alpha(x_2) \circ \dots \circ \alpha^{n-1}(x_n) \circ a, \quad x_1, x_2, \dots, x_n \in G$$

determines on G an n -group structure, which is called an n -extension of the group (G, \circ) and is denoted by

$$(G, \varphi) = Ext_{\alpha, a}(G, \circ).$$

1.2. (See [3]) If (G, φ) is an n -group then for all $u \in G$, the binary operation $* : G \times G \rightarrow G$ defined by:

$$x * y = \varphi(x, u, \bar{u}, y), \quad x, y \in G$$

determines on G a group structure $(G, *) = Red_u(G, \varphi)$ which is called a reduced group in Hosszú sense. The element \bar{u} is called the skew element of u and is defined by the relations

¹ Technical University of Cluj-Napoca, Department of Mathematics, 400114, Cluj-Napoca, Romania.
E-mail: Vasile.Pop@math.utcluj.ro.

$$\varphi(x, u, \bar{u}) = \varphi(u, \bar{u}, x) = x \text{ for all } x \in G.$$

1.3. (See [3]) If (G, φ) is an n -group and $(G, *) = \text{Red}(G, \varphi)$ is a reduced group, then the function $\alpha_u : G \rightarrow G$,

$$\alpha_u(x) = \varphi(u, x, u, \bar{u}), \quad x \in G$$

is an automorphism, $\alpha_u(a) = a$, when $a = \varphi(u)$ and $\alpha_u^{n-1}(x) = a * x * a^{-1}$, $x \in G$. Thus the pair (α_u, a) is a pair of extension and $(G, \varphi) = \text{Ext}_{\alpha_u, a}(G, *)$.

2. MAIN RESULTS

Let G be a set, $\circ : G \times G \rightarrow G$ and $* : G \times G \rightarrow G$ two binary operations on G .

Definition 2.1. (See [6]) The binary operations \circ and $*$ are called reciprocally associable if the following relations hold:

- a) $x * (y \circ z) = (x * y) \circ z$
- b) $x \circ (y * z) = (x \circ y) * z$

for all $x, y, z \in G$

In the case when (G, \circ) is a group, our goal is to characterize the binary operations $*$ on G , which are associable with the given operation \circ .

Theorem 2.2. *If (G, \circ) is a group and the binary operation $* : G \times G \rightarrow G$ is reciprocally associable with the operation \circ then $(G, *)$ is a group, isomorphic to the group (G, \circ) .*

Proof: If $u \in G$ is the unit element in (G, \circ) we show that

$$x * y = x \circ (u * u) \circ y, \text{ for all } x, y \in G. \quad (1)$$

We have

$$\begin{aligned} x \circ (u * u) \circ y &= x \circ ((u * u) \circ y) = x \circ (u * (u \circ y)) \\ &= x \circ (u * y) = (x \circ u) * y = x * y. \end{aligned}$$

Associativity:

$$\begin{aligned} x * (y * z) &\stackrel{(1)}{=} x \circ (u * u) \circ (y \circ (u * u) \circ z) \\ &= (x \circ (u * u) \circ y) \circ (u * u) \circ z = (x * y) * z, \text{ for all } x, y, z \in G. \end{aligned}$$

Unit element: If in (1) we take $y = u$, we obtain successively

$$\begin{aligned} x * u &= x \circ ((u * u) \circ u) = x \circ (u * u); \\ (x * u) \circ (u * u)^{-1} &= x; \\ x * (u \circ (u * u)^{-1}) &= x; \\ x * (u * u)^{-1} &= x, \quad x \in G. \end{aligned}$$

So $(u * u)^{-1}$ is a right unit element in $(G, *)$.

If in (1) we take $x = u$ we obtain

$$(u * u)^{-1} * y = y, \quad y \in G.$$

So $(u * u)^{-1}$ is a left unit element in $(G, *)$. Using the associativity we conclude that $v = (u * u)^{-1}$ is the unit element in $(G, *)$.

Symmetric element: We show that $x' = v \circ x^{-1} \circ v$ is the symmetric of x in $(G, *)$.

We have

$$x * x' = x * (v \circ x^{-1} \circ v) = (x * v) \circ (x^{-1} \circ v) = x \circ (x^{-1} \circ v) = (x \circ x^{-1}) \circ v = v,$$

and similarly $x' * x = v$.

The isomorphism: We prove that the function $f : (G, \circ) \rightarrow (G, *)$

$$f(x) = v \circ x, \quad x \in G$$

is a group isomorphism.

We have

$$f(x \circ y) = v \circ (x \circ y)$$

and

$$f(x) * f(y) = (v \circ x) * (v \circ y) = v \circ (x * (v \circ y)) = v \circ ((x * v) \circ y) = v \circ (x \circ y),$$

so

$$f(x \circ y) = f(x) * f(y), \quad x, y \in G.$$

Remark 2.3. (See [4]) From the proof of the previous theorem we conclude:

- $x * y = x \circ (u * u) \circ y = x \circ v^{-1} \circ y, \quad x, y \in G$
- $(u * u)^{-1}$ is the unit element in $(G, *)$
- $x' = v \circ x^{-1} \circ v, \quad x \in G$ where u is the unit element in (G, \circ) , v is the unit element in $(G, *)$, x^{-1} is the symmetric of x in (G, \circ) and x' is the symmetric of x in $(G, *)$.

In order to realize the relation with the n -groups we remind the definition (see [5]).

Definition 2.4. The groups (G, \circ) and $(G, *)$ are called simultaneously n -extensible if there exists an n -group (G, φ) and two elements $u, v \in G$ such that these groups are the Hosszú reduced groups

$$(G, \circ) = \text{Red}_u(G, \varphi) \quad \text{and} \quad (G, *) = \text{Red}_v(G, \varphi).$$

Theorem 2.5. If (G, \circ) and $(G, *)$ are two group structures on G then the operations \circ and $*$ are reciprocally associative if and only if both groups are simultaneously n -extensible for every natural number $n \geq 3$.

Proof: If (G, \circ) and $(G, *)$ are simultaneously n -extensible and $(G, \circ) = \text{Red}_u(G, \varphi)$, $(G, *) = \text{Red}_v(G, \varphi)$, where (G, φ) is an n -group, then according to relations by Hosszú reduced groups (see [4]) we have:

$$x \circ (y * z) = (x \circ y) * z, \quad x * (y \circ z) = (x * z) \circ z, \quad \text{for all } x, y, z \in G,$$

so the operations \circ and $*$ are reciprocally associable.

Conversely: From Remark 2.3, if the operations \circ and $*$ are reciprocally associable, we have:

$$x * y = x \circ (u * u) \circ y = x \circ v^{-1} \circ y \text{ for } x, y \in G,$$

where u and v are the unit elements in (G, \circ) and $(G, *)$, respectively.

For $n \geq 3$ we define on G the structure of n -group with the n -ary operation:

$$\varphi(x_1, x_2, \dots, x_n) = x_1 \circ x_2 \circ \dots \circ x_n, \text{ for all } x_1, x_2, \dots, x_n \in G.$$

From the definition of the skew element \bar{x} we have:

$$x = \varphi(x, \dots, x, \bar{x}) = \varphi(\bar{x}, x, \dots, x),$$

hence

$$x = x^{n-1} \circ \bar{x} = \bar{x} \circ x^{n-1},$$

so $\bar{x} = x^{2-n}$ and from $u = u^{n-1} \circ \bar{u}$ it follows $\bar{u} = u$.

We denote $(G, \top) = Red_u(G, \varphi)$ and $(G, \perp) = Red_v(G, \varphi)$, where $v = (u * u)^{-1}$ (from Theorem 2.2).

We have

$$x \top y = \varphi(x, u, \bar{u}, y) = x \circ u^{n-3} \circ \bar{u} \circ y = x \circ u^{n-2} \circ y = x \circ y$$

and

$$x \perp y = \varphi(x, v, \bar{v}, y) = x \circ v^{n-3} \circ \bar{v} \circ y = x \circ v^{n-3} \circ v^{2-n} \circ y \\ = x \circ v^{-1} \circ y = x * y, \text{ for all } x, y \in G.$$

So $Red_u(G, \varphi) = (G, \circ)$ and $Red_v(G, \varphi) = (G, *)$.

Corollary 2.6. If (G, \circ) is a group, then the binary operation $*$ on G is reciprocally associable with the operation \circ if and only if for every $n \geq 3$ there exist an n -group (G, φ) and the elements $u, v \in G$ such that the binary operations have the form:

$$x \circ y = \varphi(x, u, \bar{u}, y), \quad x, y \in G \\ x * y = \varphi(x, v, \bar{v}, y), \quad x, y \in G$$

where \bar{u}, \bar{v} are the skew elements of u, v .

Definition 2.7. If the binary operations \circ and $*$ are reciprocally associable on the set G , then the ternary operation

$$[\circ, *]: G \times G \times G \rightarrow G$$

defined by

$$[\circ, *](x, y, z) = x \circ (y * z) \text{ for all } x, y, z \in G$$

is called the composed or justaposed operation of \circ and $*$.

Let (G, \circ) and $(G, *)$ be two group structures on G , u the unit element in (G, \circ) and v the unit in $(G, *)$.

Theorem 2.8. If the group operations \circ and $*$ are reciprocally associable on G , then the following statements are equivalent:

- $v \circ x = x \circ v$, for all $x \in G$.
- $u * x = x * u$, for all $x \in G$.
- The ternary operation $[\circ, *]$ and $[*, \circ]$ coincide.
- The ternary operation $[\circ, *]$ endows G with a 3-group structure.

Proof:

- a) \Rightarrow b) From Remark 2.3 we have $v = (u * u)^{-1}$; then

$$\begin{aligned} v \circ x = x \circ v &\Leftrightarrow x \circ v^{-1} = v^{-1} \circ x \Leftrightarrow x \circ (u * u) = (u * u) \circ x \Leftrightarrow \\ &(x \circ u) * u = u * (u \circ x) \Leftrightarrow x * u = u * x, \quad x \in G. \end{aligned}$$

- b) \Rightarrow c) We have

$$[\circ, *](x, y, z) = x \circ (y * z) = x \circ (y \circ v^{-1} \circ z) = x \circ y \circ z \circ v^{-1}$$

and

$$[x, \circ](x, y, z) = x * (y \circ z) = x \circ v^{-1} \circ (y \circ z) = x \circ y \circ z \circ v^{-1}$$

(from $v \circ x = x \circ v$, $x \in G$ it follows $v^{-1} \circ x = x \circ v^{-1}$, $x \in G$).

c) \Rightarrow d) We have $[\circ, *](x, y, z) = x \circ y \circ z \circ v^{-1}$. Since (G, \circ) is a group, the applications $f, g, h: G \rightarrow G$ defined by

$$\begin{aligned} f(z) &= a \circ b \circ z \circ v^{-1}, \quad z \in G \\ g(y) &= a \circ y \circ b \circ v^{-1}, \quad y \in G \\ h(x) &= x \circ a \circ b \circ v^{-1}, \quad x \in G \end{aligned}$$

are bijective for all $a, b \in G$.

For the associativity we have:

$$\begin{aligned} [\circ, *]([\circ, *](x, y, z), x, t) &= [\circ, *](x \circ y \circ z \circ v^{-1}, x, t) \\ &= x \circ y \circ z \circ v^{-1} \circ s \circ t \circ v^{-1} = x \circ y \circ z \circ s \circ t \circ v^{-1} \circ v^{-1} \end{aligned}$$

and the same results for

$$[\circ, *](x, [\circ, *](y, z, s), t) \quad \text{and} \quad [\circ, *](x, y, [\circ, *](z, s, t)).$$

So $(G, [\circ, *])$ is a 3-group.

d) \Rightarrow a) From the associativity of the ternary operation we obtain

$$\begin{aligned} [\circ, *]([\circ, *](x, y, z), s, t) &= [\circ, *](x, [\circ, *](y, z, s), t) \Leftrightarrow \\ x \circ y \circ z \circ v^{-1} \circ s \circ t \circ v^{-1} &= x \circ y \circ z \circ s \circ v^{-1} \circ t \circ v^{-1} \Leftrightarrow \\ v^{-1} \circ s &= s \circ v^{-1} \Leftrightarrow s \circ v = v \circ s, \quad \text{for every } s \in G. \end{aligned}$$

Remark 2.9.

- The conditions a) and b) may be written as: $v \in Z(G, \circ)$ and $u \in Z(G, *)$ (the unit element of each group belongs to the center of the other group).
- The condition c) means that the operations \circ and $*$ are commutable, in the sense of the following definition:

Definition 2.10. The binary operations \circ and $*$ on the set G are commutable if the following relations hold:

$$\begin{aligned}x * (y \circ z) &= (x \circ y) * z, \quad x, y, z \in G \\x \circ (y * z) &= (x * y) \circ z, \quad x, y, z \in G.\end{aligned}$$

In [2] J. Dhombres gives conditions under which an operation which is commutable with a monoid operation, is associative.

Theorem 2.11. If \circ and $*$ are reciprocally associable group operations on G then $(G, [\circ, *])$ is a 3-group if and only if the centers of the groups $Z(G, \circ)$ and $Z(G, *)$ coincide.

Proof: It is enough to show that the condition $Z(G, \circ) = Z(G, *)$ is equivalent to one of the conditions of Theorem 2.8. If $Z(G, \circ) = Z(G, *)$ then $v \in Z(G, *)$ implies $v \in Z(G, \circ)$ (the condition a) by Theorem 2.8).

If $v \in Z(G, \circ)$, from Remark 2.3 we have

$$x * y = x \circ v^{-1} \circ y = x \circ y \circ v^{-1}, \quad x, y \in G.$$

Then

$$\begin{aligned}x \in Z(G, *) &\Leftrightarrow x * y = y * x, \quad y \in G \Leftrightarrow x \circ y \circ v^{-1} = y \circ x \circ v^{-1}, \quad y \in G \Leftrightarrow \\&x \circ y = y \circ x, \quad y \in G \Leftrightarrow x \in Z(G, \circ).\end{aligned}$$

So $Z(G, *) = Z(G, \circ)$.

REFERENCES

- [1] Corovei, I., Purdea, I., *The reduction of an $(n+1)$ -group and its extensions to the same group*, Sem. of Algebra, Babeş-Bolyai University Cluj-Napoca, Preprint Nr. 5, 63-68, 1988.
- [2] Dhombres, J., *Some aspect of functional equations*, Chualalongkorn Univ. Press, Bangkok, 1979, 641-655.
- [3] Hosszú, M., *On the explicit form of n -group operations*, Publ. Math. Debrecen, **10**, 1963.
- [4] Pop, V., *Relations between the Hosszú type reduces groups of an n -group*, ACAM, **10**(1-2), 40, 2001.
- [5] Pop, V., *Reduction of two polyadic groups to a group*, ACAM, **14**(1), 95, 2005.
- [6] Pop, V., *Reciprocally associable binary operations*, Proceedings of International Symposium of Mathematics and its Applications, Timișoara, 298-302, 2003.